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To their length; they are Toh’may - PRRY J2TIND

Overview

The X773 cites a m7Iwn concerning a 21 who was lying on five benches, etc. The rule
is if he was lying on the length of the benches (the length of his body paralleled the
length of the bench), the benches are 7"Xnv (as 0772 NXMY), however if he was lying
on the width of the benches (the length of his body was perpendicular to the length
of the benches [he was laying on many benches at once]), the benches are 17v.
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The above is the 827 of ¥'"w1 (1°11770 12772 PRAL 197IRY), and *"w1 explained that
PRBY 1D7KY is because one can say that each one of the benches carries the

majority of the 27 on itself, meaning -
- 20t by 0Ny Nt DY 0InYs

Sometimes the s'21 weight is on this bench, and sometimes it is on another bench -
- 172 1NN 95 Yy KW 1299 PRY PNAY janNY

However if he was lying to the width of the benches, they are 199770 for a majority
of his weight was not borne on any one of these benches. This concludes >"w"5.

modIn comments:
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And according to this °"w19, this 71w is according to w''9, who requires that the
majority of the weight of the 21 be borne by the item which we wish to declare xnv.

mooIN presents an alternate view:
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And the 5" says that we can say that this 71wn is even according to the 3139 -
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2 The a1 presumably moves while he is lying on the benches, so we assume that in the time he was lying on the benches,

his weight, at one time or another, was supported by each bench.

3 See '0n previously w"1 1"7. Therefore in the case of 1217 they are 1", since no bench carries the majority of the

a1; they each bear only a minority of his weight (which is dispersed along the five benches), the benches are therefore

11m. However according to the 7127 (who argue with @) in the case of a 21 lying on a bed and maintain that all

four towels are Xnv (even though none of them [or the legs of the bed] support the majority of the 2r), so here too

seemingly they would maintain that even PXnv 12117, See ‘Thinking it over’.

4 In the case of a bed, all four legs are required to support the 271, therefore even though each one does not support 1217

a1 5w, nevertheless they are all crucial to support the 21 therefore they are X»v. However here all five benches are not

essential in order to support the 21; we certainly can make do with one less bench and the other four (or three) will
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And the reason they are m13w when he lies j2n7% is because each bench is
considered as a ¥3°0» which is wnan 12 PN —

mooIn addresses an anticipated question:®
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And the X3 could have asked from the 82 where it states that if he lied 3978

the benches are poon J98™Y for perhaps he was lying on all the benches -
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Rather the reason the X723 did not ask from the X is because it was preferable
for the X7nx to ask from the 22 where the m1wn explains explicitly the reason

why they are J°8»Y is because 1779y 7onnn P50 which proves that even by a oo it is Kb,
however in the X1 it does not state clearly that they are poon Prnw.

Summary
The mwn of the benches can follow even the view of the 7127 who argue with w"A. It

is preferable to prove a point from something explicit than from something inferred.

Thinking it over

moon writes (initially) that this 71wn (of the benches) is according to w"2 who
maintains that we require 12¥ X1 2171 217.7 However previously in mooin we learnt®
that the 13127 also require 1°9& Xw°1 2177 217 (in the case of the balancing scale), so why
does N1©OIN assume here that it is only according to w"9 that we require 12 2177 217,
but not according to the 13129?!°

support him, therefore we say regarding each bench that this one is considered the ¥>0on (the non-essential bench), and
therefore they are all 0.
5> The Rna cites this 7awn (of the benches) in order to prove that even by a 790 it is XV (not like by the cow where we
say that by a poo it is M7v). The X3 asks the question from the last case in the 71wn regarding a 757077 21 who was
10" that the benches are Xnv even if he slept 1279, since it is possible that during his sleep he twisted and was lying
197R%. The question here is that the same conclusion can be drawn from the first case of the 71wn where he lied 198>,
why ask from the last case.
¢ See footnote # 2.
7 See footnote # 3.
8 w" 7"72 [TIE footnote # 7]. The difference here by 1o is that the 1327 maintain 212 1R 711 912 2K 777 is considered
as if the 21 is supported by each one.
® See w"wn.
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